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ping -i 0.03 -s 4000 10.83.23.28

2 Loiids | aad éaa) Jasy JaiVl L] Il
bytes from 10.83.23.28: icnp_req=1 ttl=64 tinme=0.266 ns 4008
bytes from 10.83.23.28: icnp_req=2 ttl=64 tinme=0.213 ns 4008
bytes from 10.83.23.28: icnp_req=3 ttl=64 tinme=0.214 ns 4008
bytes from 10.83.23.28: icnp_req=4 ttl=64 tinme=0.213 ns 4008
bytes from 10.83.23.28: icnp_req=5 ttl=64 tine=0.213 ns 4008
bytes from 10.83.23.28: icnp_req=6 ttl=64 tine=0.218 ns 4008
bytes from 10.83.23.28: icnp_req=7 ttl=64 tinme=0.219 ns 4008
bytes from 10.83.23.28: icnp_req=8 ttl=64 tine=0.219 ns 4008
bytes from 10.83.23.28: icnp_req=9 ttl=64 tinme=0.219 ns 4008

bytes from 10.83.23.28: icnp_req=10 ttl =64 tine=0.221 ns 4008
bytes from 10.83.23.28: icnp_req=11 ttl =64 tine=0.225 ns 4008
bytes from 10.83.23.28: icnp_req=12 ttl =64 tine=0.225 ns 4008
bytes from 10.83.23.28: icnp_req=13 ttl =64 tine=0.230 ns 4008
bytes from 10.83.23.28: icnp_req=14 ttl =64 tine=0.227 ns 4008
bytes from 10.83.23.28: icnp_req=15 ttl =64 tine=0.229 ns 4008
bytes from 10.83.23.28: icnp_req=16 ttl =64 tine=0.232 ns 4008
bytes from 10.83.23.28: icnp_req=17 ttl =64 tine=0.231 ns 4008
bytes from 10.83.23.28: icnp_req=18 ttl =64 tine=0.230 ns 4008
bytes from 10.83.23.28: icnp_req=19 ttl =64 tine=0.232 ns 4008
bytes from 10.83.23.28: icnp_req=20 ttl=64 tine=0.230 ns 4008
bytes from 10.83.23.28: icnp_req=21 ttl=64 tine=0.234 ns 4008
bytes from 10.83.23.28: icnp_req=22 ttl=64 tine=0.233 ns 4008
bytes from 10.83.23.28: icnp_req=23 ttl=64 tine=0.235 ns 4008
bytes from 10.83.23.28: icnp_req=24 ttl=64 tine=0.236 ns 4008
bytes from 10.83.23.28: icnp_req=25 ttl=64 tine=0.234 ns 4008
bytes from 10.83.23.28: icnp_req=26 ttl=64 tine=0.236 ns 4008
bytes from 10.83.23.28: icnp_req=27 ttl=64 tine=0.237 ns 4008
bytes from 10.83.23.28: icnp_req=28 ttl=64 tine=0.235 ns 4008
bytes from 10.83.23.28: icnp_req=29 ttl=64 tine=0.235 ns 4008
bytes from 10.83.23.28: icnp_req=30 ttl=64 tine=0.218 ns 4008
bytes from 10.83.23.28: icnp_req=31 ttl=64 tine=0.220 ns 4008
bytes from 10.83.23.28: icnp_req=32 ttl=64 tine=0.226 ns 4008
bytes from 10.83.23.28: icnp_req=33 ttl=64 tine=0.254 ns 4008
bytes from 10.83.23.28: icnp_req=34 ttl=64 tine=0.214 ns 4008
bytes from 10.83.23.28: icnp_req=35 ttl=64 tine=0.214 ns 4008
bytes from 10.83.23.28: icnp_req=36 ttl=64 tine=0.215 ns 4008
bytes from 10.83.23.28: icnp_req=37 ttl=64 tine=0.214 ns 4008
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--- ping statistics 10.83.23.28 ---
packets transmitted, 159 received, 0% packet |oss, tine 4739ns 159
rtt mn/avg/ mex/ mdev = 0.195/0.236/0.283/0.022 s
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